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General Instructions:

1. All questions are compulsory.

2. The question paper consists of 31"questions divided into four sections A, B, C and
D. Section-A comprises of 4 questions of 1 mark each; Section-B comprises of 6
questions of 2 marks each; Section-C comprises of 10 questions of 3 marks each
and Section-D comprises'of 11 questions of 4 marks each.

3. There is no overall choicein this question paper.

4. Use of calculator is not permitted.
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Question numbers 1 to 4 carry one mark each

1 ADEW, & AB|[EW &1 ¢ AD=4 cm., DE=12 cm, 741 DW =24cm §, 91 BD &1 9 3 #ifoe) 1

In ADEW, AB|[EW. If AD=4 cm, DE=12 cm and DW =24 cm, then find the value of DB.
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If tan(3x + 30°) = 1, then find the value of x.

3 3fe ¢ 1 W 0° T 90° T Tl €, dl cosh = T I F1 Bl & 7 1

What happens to value of cosé when 6 increases from 0° to 90°?

4 fepelt s #, WieA S T AR 9.5 3t 10 U gu ¥ U uias weY w1 wE e g W1
Seq 1 TG F HITST |

[n a certain distribution, mean and median are 9.5 and 10 respectively. Find the mode of the
~ distribution, using an empirical relation.
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Question numbers 5 to 10 carry two marks each. LT A ) "3? x A
%
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Write down the decimal expansion of 3125 , without actual division.

6  fog Fifo e 5 — J2 U STUg 9e el

Prove that 5 — /2 is dn jrrational number
7 3% fRuTt 98 A4 FITSe fSr & =] 1 A a1 UAEA FE: 0 74l — V2 2

Find a quadratic polynomial, the sum and product of whose zeroes are 0 and — J2
respectively. : '

8 11 T sepfaal Taey € 7 SR |1 i) 2
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Are the given figures similar ? Give reason.

p\B 345 em Cg

¢
9 e wdaf ) o R sin“drcoste 7’%&%«; 2

N2 sin“6 cos?9 9)

>
sin*0+cos'H ?/ /
Prove the following identity ; =1.

g, =2 sin“0 coszl}

10 =iew fF A € v i S, iR s, w1 firen o o E S Aol W Wgeih S, SRS, o Sen-Sier 2
agors 9 fafim gar 21

5113, 5,8.8,9.12,13,9,9
SZ: 7! 4; 7: 8! 7: 8! 13

Show that the mode of the series obtained by combining the two series 5; and S; given below
is different from that of S; and S, taken separately :

S,:3,5,8,8,9,12,13,9,9
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EUs-H [/ SECTION-C
Uy S 11920 H TS F 3 3F B
Question numbers 11 to 20 carry three marks each.

11 STEAT HIFAT fh 3% 5% 13 x 46 + 23 T HHET G&A1 ¢ 91 4G §&A1 B

Explain whether the number 3 Xx5x13 X 46+ 23 is a prime number or a composite number.

12 11 gHieTor g &1 & HifaT

49x +51y=499

51x +49y =501

Solve the following pair of equations :
49% +51y=499 U

51x +49y =501 r@

13 iz agTex’ +8x +ky+ 18, TEUE X +/6x + 9 W YO 9T B W A k FH HA F1 BIAC

If :vc3 + Bx2 +kx + 18 is completely divisible by Jc;I +6x+9, then find the value of k.

14 f e w3 e (k) &t gr ea st
2x—y+3=0

3x—-5y+1=0

Solve graphically the following pair of equations :
2x-y+3=0

3x—5y+1=0
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15 3k A, 3G ABEA = ACDA €, d fag #ifSig & ADEA ~ ABCA %1 :

16

In the figure of AABC, DE[|AC. If DC|[AP, where point P lies on BC produced, then prove that

BE _ BC '

EC CP’

A T
o/ \

/N

B E C P
17 & sinA +cosA = V2 cosA &, Tl cotA &1 HH 19 S| 3

Page 5 of 10

http://jsuniltutorial .weebly.com/



JSUNIL

3 7:13'%}\
i
TUTORLAL

Chhase Excellemnce

If sinA + cosA = 2 cosA, find the value of cotA.

18 foag wifse fo

(1+tan A+cot A). (sin A—cos A} =sin A.tan A—cot A. cos A

Prove that :

f 4cton

(1+tan A+ cot A). (sin A—cos A) =sin A.tan A—cot A. cos A

19 U e S §, 40 Afeesll & ged &1 gewAl @ g = afae ¥ fenrd a1

workers

of

da

“Tgehl sl G/ e 65-69 | 70-74 75-79 | 80-84
Higenedi &1 W& 2 18 16

SUE Tihel 1 AT I RIS |

In a health check up, the number of heart beats of 40 women were recorded in the following

table :
Number of heart beats/minute | 6569 70-74 75-79 80-84
Number of women 2 18 16 4

Find the mean of the data.

20 et deq, e T F 60 FHE1E! 1 ef e Jaq e €
ofr® a0 300- [400- |500- | 600- |700- |800- [900-
400 500 600 700 800 900 1000
(ZH)
FHIIE] &l & 6 12 14 10 8 7 3
| I TS G O ' U % TER AR G|
The following distribution gives the daily income 60
factory :
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"Daily income (n%) | 300- | 400- | 500- [600- | 700- | 800- | 900-
400 |500 | 600 |700 |800 |900 ‘mon
I
i
1

Number of workers | 6 12 |14 |10 |8 7 3 |
|
' |
Draw a ‘myore than type’ ogive for the above data.
- S e
@Ug-g / SECTION-D
T HEAI 21 W31 H UAF H 4HF T )
Question numbers 21 to 31 carry four marks each. [ i 1) {mﬁ)h i\

izt o n, (n+1) 37 (n+2) § U oo O T2 3 8 FAYRAE, S n SR S QUi S

Show that one and only one out of n, (n+1) and (n+2) is divisible by 3, where n is any
positive integer.

anferd (1, 4) @R (0, 6) T e AW @ F @ Ha W@ ¢ vetn el (3, 4) 3R (1, 0) 1 HrA
a1t Y 3 e = W1 W 5 vefid Fife sl o fig 9@ S siel WA e ww g
Ealcaealill

Aditya is walking along the linéjoining (1, 4) and (0, 6), Aditi is walking along the line joining
(3,4) and (1, 0). Represent on graplt and find the point where both of them cross each other.

afts ST £ (1) =22 — 6+ k B TP « 3 p 70 9N E FF o2+ p2=40 T, Wk 1 |H T4 HifST |

If « and B are the zeroes of the polynomial f (x)=x?—6x+k, find the value of k, such that
o + p?=40.

3 =i A SR B H oTa 1 SE 9 ;7 ¥ 3R TR @el 1 U 4 3 %1 Al v =Af
eI TER T 200 SR Y, O STE WIE 379 T4 RIS | S HEA F SAAEF T ?

The ratio of incomes of two persons A and Bis 9: 7 and the ratio of their expenditures is 4 : 3.
If their savings are ¥ 200 per month, find their monthly incomes.

. Why is it necessary to save money ?
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If two poles 5 m and 15 m high are 100 m apart, then find the height of the point of
intersection of the line joining the top of each pole to the foot of the opposite pole ?

g FifS T o aaerm e 3 &0l o1 9 9 31 ssiedl & o % 9 & e e B 4

Prove that in a right triangle, the square of the hypotenuse is equal to the sum of the squares
of the other two sides.

4fg 15 cotA =8 A1 311 Hrapifiredia srumdl & 9 a1 iy 4

If 15 cotA =8, find the value all other trigonometric ratios.

ﬂﬁ{secﬁ+tan8=p%,ﬁfi’ﬂﬁ'q%secﬁ—taw:l%l 4
. P
Q'Fl'\el cosd 3 sind & TH I a—‘;iﬁl'm

1
If sech + tan® = p, show that sec@=tand = —. Hence, find the values of cos0 and sin®.

fag wify f . 4

\/secA — tanA \/ cosecA — cotA

= (secA—1). (cosecA—1)
secA + tanA cosecA + cotA

Prove that :

secA — tanA \/cosecA — CotA = fsaEac=1); (EosecA=1)

secA + tanA  \ cosecA + cotA

U el 2% 1, 120 faenfeidi g urd farg o of e aEma s d qwin e ¥ AR wm wem R 4
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10- [20- |30- |40- |50- |e0- |70- |80-° |90-

o HF | 0-10 2 =
20 |30 |40 |50 |60 |70 |80 |90 |100
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In a class test, marks obtained by 120 students are given in the following frequency
distribution. If it is given that mean is 59, find the missing frequencies x and y.

Mark 010 10- | 20- |30- |40- |50- |60- |70- |80- |.90-
AR\ o Mg Ay (500 160|700 |80 |90 |0
Number
of 1 3 7 10 115, % 9 27,118 |y
students
31 ot Tavafaemera =1 U e & faanfddl & S @ 9 fTea swEE seq § gvie T 4
. 200- | 400- 600~ 1-800- 1000- | 1200~
S/a @ (X H) 0200 | 2 |
400 600 800 1000 | 1200 | 1400 no 0
ferenfefai = @@= | 33 74 170 488 ¥ |76 |44 25 wc?l W
ST SRS T HIEA Ao HIEE S H el /?/\Z
Pocket expenses of the students of a class in a college are shown in the following frequency i
distribution :
3" 4
Pocket expenses 0200 MO0 [400- | 600- | 800- | 1000- | 1200- 18 795
; 3 400 600 800 1000 | 1200 | 1400 .
@) 70 Fup
Number of 53 956‘
74 170 88 76 44 25
students - 6 |7 T 2
Find the mean and median for the above data. U bﬁ_z?
F. 2 320%0
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